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1.

I;Z’Lu ﬁﬁfﬁ, ﬂ?l’-ﬁ @Tmiﬁm ShHT:
g:

(1) 175,104 3R 71

(2 71,104 3R71

(3 104,713 71

(4 71,713 104

frafefaa ug s e UseHl 6 afwfad wae,
T F SFHHO H ATP & IEH H 3R Na &

1 o ekl o el & foTe SeRert €
(1) diefEm

@ @FA

(3  dman (FHW)

(4) HiceEm

frafafad § & SF-w1 wEq THeEEs # fau ad
TEHE?

(1) I 37Ul & & HROT 3T Al

(2 I% FreEHrr e st € |

(3) T TEd Hi AT 98 Argal I T Il 7 |

(4) wEEEEErEfeE (CO ¥ sftd gHraitad),
SdErHTefe 9 e S g |

Frafafaa 4 9 fead wEmEt &t 9en sftewa
Bt ?

(D Li(s) T 1 g [Li 31 9TATY S9HH = 7]

@  Ag(s) F 1 g [Ag T THIY] S=THM = 108]

(3  Mg(s) T 1 g [Mg hl TTHIY] S9H = 24]

1) Oy(g) =1 g [O I ITHY] THHH = 16]

mmﬁéﬁaﬁ,m%:
(1) Y auiciEat &

@ ST Suiciiaeht 1
@) faures auicfast &
(4)  Udel W FuieiiEeht &

frafafaa & 9 FH-91 U THfas dgas § 2
(1) i (TSR UfheiTegEe)

@  fa%14-ufarsanE

@) Hifa (FFerEET-wwEia)

@) iR

The number of protons, neutrons and electrons in
175L .
711w, respectively, are :
(1 175,104 and 71
2) 71,104 and 71
3) 104, 71 and 71
1) 71,71 and 104

The following metal ion activates many enzymes,
participates in the oxidation of glucose to produce
ATP and with Na, is responsible for the
transmission of nerve signals.

(1) Potassium

2 Iron
3  Copper
(4  Calcium

Which of the following is not correct about carbon
monoxide ?

(1)  Itisproduced due to incomplete combustion.
(2)  Itformscarboxyhaemoglobin.
(3)  Itreducesoxygen carrying ability of blood.

(4)  The carboxyhaemoglobin (haemoglobin
bound to CO) is less stable than
oxyhaemoglobin.

Which one of the followings has maximum number
of atoms ?

(1) 1gofLi(s) [Atomic mass of Li="7]

(2) 1gof Ag(s) [Atomic mass of Ag=108]
3  1gofMg(s) [Atomic mass of Mg = 24]
1)  1gofOy(g) [Atomic mass of O=16]

Paper chromatography is an example of :
(1)  Columnchromatography

(2)  Adsorption chromatography

(3)  Partition chromatography

(4  Thin layer chromatography

Which of the following is a natural polymer ?
(1)  poly (Butadiene-acrylonitrile)

(2)  cis-1,4-polyisoprene

(3)  poly (Butadiene-styrene)

(4  polybutadiene
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7.

10.

11.

e fagn St WS fem 9 vaeas fa=em weftla
FEE, T

(1) TR + SEeeH
2 UIH+ TR
(3)  SFSIA+ TR

(4) THRH+ FARHH

Cr2+ & feTu, Faet yashv gah I ATl o1 qiawfed
AT :

(1) 2841BM
@ 387BM
(3) 490BM
() 592BM

frafafaa 5 | feas wr0 & gaas Hfea
FETAEA U fodiaes SAfea w@iEaEA 9 @Afus
T B 2

O g

@ —CH,®98i & — [ 999 & HRU
() —CH,® 98l &% +RU9E % HRU
(1) —CH,®9&l &% — R UE & HROT

et aTreyl T & T uftfeafa ® qaa v & fau
Sfed fawea 8 :

(1) q>0,AT>03Rw>0
2 q=0,AT=03Rw=0
3 q=0,AT<03Rw>0
(1) q<0,AT=03Rw=0

2519 | ¥2-2-37 o il faeires stfufsran
(a) p-facimm srfafwan @

(b) SEdE f7Em & IeE w5

@ faeegrersHwm aifufwan &

@  fsteiieron sifufewan &

®» @b
@ (@.b).(@
B (@.().@
@ (b)), @

3
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The mixture which shows positive deviation from
Raoult’slaw is :

(1)  Chloroethane + Bromoethane
(2)  Ethanol + Acetone
(3)  Benzene + Toluene

(4)  Acetone + Chloroform

The calculated spin only magnetic moment of Cr2+
ionis:

(1) 2.84BM
© 3.87BM
() 4.90BM
“4) 5.92BM

A tertiary butyl carbocation is more stable than a
secondary butyl carbocation because of which of
the following ?

(1)  Hyperconjugation

(2  —Ieffect of —CHjggroups
3 + Reffect of — CHygroups
1) —Reffect of — CH;groups

The correct option for free expansion of an ideal
gas under adiabatic condition is :

O q>0,AT>0andw>0
2 q=0,AT=0andw=0

3 q=0,AT<0andw>0
4 q<0,AT=0and w=0

Elimination reaction of 2-Bromo-pentane to form
pent-2-eneis:

(@  B-Elimination reaction

(b)  Follows Zaitsev rule

(¢)  Dehydrohalogenation reaction
(d  Dehydration reaction

®» @, b).d)

@ @),

@ @ ©. @

@ (), (@
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13.

14.

15.

frafafaa 9§ 9 3fea w97 v .
@)  COu(g) F smsashm 3iR fewiifaa @ & e
itdes & ®9 § ITENT foa S g1

b)  Cgo I HTEAT H, INE B: FHEA 914 R 4
i e g B |

(© ZSM-5, Us Y& o1 fSiziiense & St Uehieial
1 el § waf F § STEn fawar St
gl

@ CO TTEH 3R Mg 19 2|

1) & () AR ()

@ %A (a), (b) 3R (o)

@) A (a) 3R (c)

@  FaE (b) 3R (c)

Frfafaa # 9, Ta=a i & 9 H & fore gata
1 Sl & YeIerdl 1 HIH-91 el H © 2

(1) CN <Cy,04 <SCN™ <F~

@ SCN™ <F <C,0% <CN~

(3 SCN™ <F <CN <C(Cy0%~

@ F <SCN™ <Cy03 <CN~

T4 1 STel-27q9eq frefataa sifuferan gra fean
S

G + H,0 = T + e
afg 300 K W 9 feortiar (K,) 2x 1013 &1, @1 36
A9 R A GO 1 HH B
1  —8.314Jmol 'K~ 1x 300K x1In(4x 10!3)
2  —8.314Jmol 'K~ 1x300K x1In(2 x 1013)
3  8.314Jmol 'K~ 1x 300K xIn(2x 10!3)
4)  8.314Jmol 'K~ 1x 300K xIn(3x 10!3)

3rfed gae i g |
Bl AE WL 3tferpa A
@  FFferstEE G  Hecifaam
b IR (i) emfEEm
©  sHfeRiFa™ (i)  drERTEE
@  sEeTgtEm (v) wHRE e

®» @, )
@ @0

@ b))
@ (o), ()

12.

13.

14.

15.

Identify the correct statements from the
following :

(@  COy(g) is used as refrigerant for ice-cream
and frozen food.

()  The structure of Cg, contains twelve six
carbon rings and twenty five carbon rings.

()  ZSM-b, a type of zeolite, is used to convert
alcohols into gasoline.

(d  COiscolorless and odourless gas.
(1) (c)and (d) only

@  (a),(b) and (c) only

(3) (a)and (c) only

(4 (b)and (c) only

Which of the following is the correct order of
increasing field strength of ligands to form
coordination compounds ?

() CN™ <Cy0f <SCN™ <F~
@ SCN™ <F <(Cy0% <CN~
B SCN <F <CN <(Cy0%”
(9 F <SCN <(Cy0f <CN~

Hydrolysis of sucrose is given by the following
reaction.

Sucrose + H,0 = Glucose + Fructose

If the equilibrium constant (K, is 2x10'3 at
300 K, the value of A G at the same temperature
will be :

1 —8.314Jmol 'K~ 1x 300K xIn(4x 10!3)
2  —8.314Jmol 'K~ 1x300KxIn(2x10!3)
3) 8.314Jmol 'K~ 1x 300K xIn(2x 10!3)
1)  8.314J mol 'K~ 1x 300K x In(3 x 10!3)

Identify the incorrect match.

Name IUPAC Official Name

(a  Unnilunium (1) Mendelevium
(b)  Unniltrium (i) Lawrencium

(¢)  Unnilhexium (i)  Seaborgium

(d  Unununnium (iv) Darmstadtium
®»  @,av)

@ (@0

@ (b))

@ (o), ()
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16.

17.

18.

ufriet HI &% @1y fagem grian e :

Q,H

M +C,H;0H
OH
@ ©+CH3I
I
@ ©+CH30H
OH
@ ©+CZH5I
frfafaa d§ 9 98 9 ggai :
(1) = R w fafie sl § e S awa g
@ Taeal ©ier 4% e A NS el g |
(3) WHIIGR didl, CO,, % e % R0 Hhiciar
T B
(1) e & for aros yraeen vieE o1 e fafy
BRI o S €

sfufsan, 2C1(g) — Cly(g), % o 3faa faswea & :

(4
@
(©)
@)

AH<03RAS<0
AH>03RAS>0
AH>03RAS<0

AH<03RAS>0

16.

17.

18.
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Anisole on cleavage with HI gives :

M

@

(6)

@

+C,H;0H

+CH,l

+CH,0H

O2 O O O

Identify the correct statement from the

following :

(1) Pig iron can be moulded into a variety of
shapes.

(20 Wrought iron is impure iron with
4% carbon.

(3)  Blistercopper has blistered appearance due
to evolution of CO,.

(4)  Vapour phase refining is carried out for

Nickel by Van Arkel method.

For the reaction, 2Cl(g) — Cly(g), the correct

optionis:

1 AH<OandAS<0
2 AH>0andAS>0
3 AH>0andAS<0
4 AH<OandAS>0
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20.

srfafeaet & fr=fafaa 9 9 X Fifns &1

gy :
CH, CHO
—_— X —
373K
CCl,
Cl
CH,C1
CHCI,
Frefafaa w1 gafaa sife
K 2 | S Yahfd
(@ CO O &R
(b) BaO () IS
(© ALO, (i) T
@ CL0, (iv) SvIHHt
frefafiad § 9 S9-91 98 fasea &2
@ (b (© @
1 Gv) @) @ @
@ O @ @ G
@ @ @O (@Gv G
@ @@ v @O @
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19. Identify compound X in the following sequence of
reactions :
CHg4 CHO
—_— X
373 K
CCly
»
Cl
@
CH,Cl
(&)
CHCl,
@
20. Match the following :
Oxide Nature
@ CO @i  Basic
b)) BaO (i) Neutral
(©  AlO,4 (i)  Acidic
@ ClL0, (iv) Amphoteric
Which of the following is correct option ?
@ () (© @
»H G @ @ O
@ O @ @ @)
@ @ @O G @
@ @ G O @
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21.

22.

23.

24.

25.

e st & e Al g A aFa © s famfeq
T B 9°a1 €1 59 B ® Cut (SEfd) ¥ 9N
STl %, 9 C 1 MR A T 1 faerEs e g €

fefaf@a i d cmga 7?2
(1)  CuCO,4Cu(OH),
@  CuSO,

3)  [Cu(NHy),]?*
@)  Cu(OH),

wifeTH (Pt) SRS F ITAR Fd Y 0 HeHEH
37 &% oY ATTHA W, TAS W Y SIS ST

1  SO0,7™

@  EEgeH T
(3)  AiesH 19
(1) H,STH

TH dcd &l 288 pm U SR Tl HE higd THA
T &, ] e ©

1 % 288 pm
(2) % X 288 pm
3) % X 288 pm
“) % X 288 pm

YohlE STel- 3T W a1 © :

(1)  o-D-%RE+p-D-FR™
@)  B-DITHE + o-D-TFRH
()  oD-TTHME+ B-D-TTHM
()  oD-THE+ B-D-FERH

frefafaa § 9 SH-91 t e T o 2 2

1
@ &l

@) e
@) TEEH

7
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Urea reacts with water to form A which will
decompose to form B. B when passed through
Cu?t (aq), deep blue colour solution C is formed.
What is the formula of C from the following ?

1)  CuCO4-Cu(OH),

@  CuSo,
@  [Cu@NHy, 2+
@)  Cu(OH),

On electrolysis of dil.sulphuric acid using
Platinum (Pt) electrode, the product obtained at
anode will be :

1 SOggas

(2) Hydrogengas
(3)  Oxygen gas
(4  HySgas

An element has a body centered cubic (bee)
structure with a cell edge of 288 pm. The atomic

radius is :

1) —=x 288pm
J2

(2 ? X 288 pm

3) # X 288 pm
4

Sucrose on hydrolysis gives :

(1)  a-D-Fructose + B-D-Fructose
2) B-D-Glucose + a-D-Fructose
3)  a-D-Glucose + B-D-Glucose
(1  a-D-Glucose + B-D-Fructose

Which of the following is a basic amino acid ?

(1) Lysine
(2)  Serine
(3) Alanine

(4  Tyrosine
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Frafafeaa 5 @ st & fea ay=a = 3= f5ya

3Tl B 8 2

(1) IR IEwRRINES, dRfeE SEwEiNEs, FeA
TRAFAES, 1,4-SEIARISSIT

@ srmifan, dfifaaw sweiiss, 949,
1,4-STEFARISFSI

@) ARM RTINS, TESeH FSIES, He
TEATFAES, 1,3-STEFARESIT

@)  EESH TERHNES, Ao SERHNES,
4, 1,3-STEFARISS

o=t ol fewieh st i (K 5.12 K kg mol !
B =i § ue fore-smuae faeia art 0.078 m
Hiereral are faee &1 fenie staaa (S vmed
Ml o feefeq), € :

(1 060K
(2 020K
(3 0.80K
(4 040K

frfafaa 9 9§ gew & fa siagesmad - 0-0—
A T?

1) H,yS,0,, TEEeHRE T

@  H,S0,, HEREH 37

() H,S0,, HeHfish e

(1)  HyS,0g, WHATHEISEHCHE 37

HC1 &1 CaCl,, MgCl, 3R NaCl % faerd § ¥/
| Frefafaa 8 @ FF-wvaE-3 e Ghefa
TEY?

(1)  NaCl, MgCl, 3R CaCl,

@  MgCl, 3R CaCl, 3Hi

() ®a@NaCl

() *FaMgCl,

Siter fava =1 919a Fiase! faere & form o &
Fruior § S Sar €2

(1) ISt U T 2AHY
@ @

3 faomm

(4) HIrsSt HU HI oo

26.

27.

28.

29.

30.
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Which of the following set of molecules will have
zero dipole moment ?

(1)  Boron trifluoride, beryllium difluoride,
carbon dioxide, 1,4-dichlorobenzene

(2) Ammonia, beryllium difluoride, water,
1,4-dichlorobenzene

(3)  Boron trifluoride, hydrogen fluoride, carbon
dioxide, 1,3-dichlorobenzene

(4  Nitrogen trifluoride, beryllium difluoride,
water, 1,3-dichlorobenzene

The freezing point depression constant (Ky) of
benzene is 5.12 K kg mol 1. The freezing point
depression for the solution of molality 0.078 m
containing a non-electrolyte solute in benzene is
(rounded off upto two decimal places) :

1 060K
@ 020K
3 0.80K
@4 040K

Which of the following oxoacid of sulphur has
—0—-0 — linkage ?

(1)  HyS,04, pyrosulphuric acid

(2 HySOg, sulphurous acid

3)  Hy,SO0,, sulphuric acid

(1) HyS,0g, peroxodisulphuric acid

HC1 was passed through a solution of CaCly, MgCl,
and NaCl. Which of the following compound(s)
crystallise(s) ?

(0] NaCl, MgCl, and CaCl,
(2 BothMgCl,and CaCl,
(3)  Only NaCl

(4 Only MgCl,

Measuring Zeta potential is useful in determining
which property of colloidal solution ?

(1)  Size of the colloidal particles

(2)  Viscosity

(3)  Solubility

(4)  Stability of the colloidal particles
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31.

32.

33.

34.

35.

yoq Fife &1 s Afufwman & fau an feeis
1.606x10 35 1% AYFRF F2.0gH 0.2 g TH
Prefe i ookl

(1) 1000s
@ 100s
() 200s
(1) 500s

frafafed § @ fF- Tewa 921 aAfufan gr

3Tt Afed | &1 oA ST |l 2
(I co

@ nTEA

@)  2,3-TEAfYEHA

(@) nTeA

Frafafea % gafaa Fifee oit Faa fames =it |

@  CO@)+Hye) ®  MgHCOy),+
Ca(HCO,),
b SEAFR R @) T FERE gl
FHRl KESIESS
(© ByHg (i)  HeeTHU
@ Hy0, (v) FTEHA! =

@ (® @ @
o o @ @ G
@ @ O @ G
@ @ @W O G
@ @ G @ @

Ni(OH), # 0.1 M NaOH # faeraar 3/ sHifs |
feon & f&F Ni(OH), F1 31T TUH%a 2% 10~ 15 %
1) 1x108M

2 2x10713M

3 2x107%M

1) 1x10~13M

et foh -9 31 1 i TE 7

@ 0,
(2) Hey
) Liy
@ C,

31

32.

33.

34.

35.
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The rate constant for a first order reaction is
4.606 X103 s~ 1. The time required to reduce
2.0 g of the reactant to 0.2 g is :

() 1000s
(2 100s
@) 200s
14 500s

Which of the following alkane cannot be made in
good yield by Wurtz reaction ?

(1) n-Butane

(2) n-Hexane

3)  2,3-Dimethylbutane
(4  n-Heptane

Match the following and identify the correct
option.

(@ CO(®+Hyg @  MgHCOy,+
Ca(HCOy),

(b)  Temporary (i) Anelectron
hardness of deficient hydride
water

(© ByHg (iii) Synthesisgas

@ H,0, (iv) Non-planar

structure

@ (®m © @@
o O @ @ G
@ @ O @ G
@ @ @ @O @
@ @ G @ O
Find out the solubility of Ni(OH), in 0.1 M NaOH.

Given that the ionic product of Ni(OH), is
2x10-15,

1) 1x108M

©2 2x10713M
3 2x10°8M
@ 1x10-13M

Identify a molecule which does not exist.

@ 0,
(2) He P
@ Ly

@ Cy
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36.

37.

Frefefiad # @ S5 THIA HfceraH = e 3T 2

NHC,H;
(€))
NH,
@
NHCH,
(6))
N(CHj),
“@
TAd FH2H i e |
O i =, CrO%_ 3R Cr, 0% H IT=EH
SrerETd qHE TE |
2 9 H, Cr2*(dY), Fe2*(d% ¥ 21fus waat
ATEEF € |
()  HeRHUT UTqU TR S AT S o SRl
ST 1 TN HTA I &THAT oh BT ST
wftraar iR dga faio &% fog s 5 €
(1)  SiqueEn AfTw 3 2 T S uget # e
ST & iR BIe TR aTet TS Sid H,
CAIN & HF (39) WA &

10

36.
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Which of the following amine will give the

carbylamine test ?

@

@

(6

@

NHC,H;

O

NH,

O

NHCH,

O

N(CH,),

O

Identify the incorrect statement.

®

@

(6)

@

The oxidation states of chromium in Cr0§_

and CrZO%_ are not the same.

Cr2%(d?) is a stronger reducing agent than
Fe2t(d%) in water.

The transition metals and their compounds
are known for their catalytic activity due to
their ability to adopt multiple oxidation
states and to form complexes.

Interstitial compounds are those that are
formed when small atoms like H, C or N
are trapped inside the crystal lattices of
metals.
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38.

39.

40.

41.

42.

fereit stfuafsran o srfirerment =1 wigar A gfs | wfEd
/I

1wz et

@  afwa e |

3) At i o H
(@) <ol S H

T fafest § N, 3R Ar 7461 % s fagm A N, &
7g 3N Ar & 8 g &1 afg fafeet § T & fagor
% T 27 bar &, T N, &1 e 39 2,

[9THTY] E=9HI (g mol ~ 1 H) : N= 14, Ar =40 SUART
FHiferg]

1) 18 bar
2) 9bar

3) 12 bar
1) 15 bar

Tferd CaCly, & 20 ¢ Hfcerm ura w0 & foe stawas
FIE(F) I HET ®,
(Ca T ITHIY] STHH = 40 TTH/HIE)

o 4

@ 1

@ 2

@ 3

FHifeeeEs 3R THISIEHM i aF NaOH @i Sufefa
Y sAfuferan 39 weR ST STt @

(1) o e HEAA

@ UoEia gEA

(3)  hfsma arfafwan

() o HSR Afufeman

fr=fafaa sifafwan & wE #t stiadeo e §
1 9fEcd ear 8 ?
CH,(g)+ 41Cly(g) — CCl,(1) + 4HCl(g)

1 0" -4
2 +49 +4
3 0™ +4
@ -49 +4
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An increase in the concentration of the reactants
of a reaction leads to changein:

(1)  collision frequency
(2)  activation energy
(3)  heatofreaction

(4)  threshold energy

Amixture of N, and Ar gases in a cylinder contains
7gof N, and 8 gof Ar. If the total pressure of the
mixture of the gases in the cylinder is 27 bar, the
partial pressure of N, is :

[Use atomic masses (in g mol 1) : N =14, Ar=40]

(1) 18 bar
2  9bar

3) 12 bar
“ 15 bar

The number of Faradays(F) required to produce
20 g of calcium from molten CaCl, (Atomic mass
of Ca=40gmol ™ ) is:

@ 4
@ 1
@ 2
@ 3

Reaction between benzaldehyde and acetophenone
in presence of dilute NaOH is known as :

@

Cross Aldol condensation

(2)  Aldol condensation
3)  Cannizzaro’s reaction
(4 Cross Cannizzaro’s reaction

Whatis the change in oxidation number of carbon
in the following reaction ?

CH,(g) +4Cly(g) = CCl,(1) +4HCl(g)

1 Oto-—4
(2 +4to+4
3 Oto+4
4 —4to +4
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CH,CH,CH,
()

CH=CH-CH,
@
(6

CH,-CH=CH,
@

THRM 2R Afaerd=ifam FeirEe & Afafman ik
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() I Yo

@  sTEEmifue ek

@  Todrrs gfea Tehrera
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1 Eifem Sfaae=sia gehre
2 wifsaw dAsa gehe

(3 wifeaw fieue

(4 AfeceEatys erifam dmEs
Ufie Ud St & a7 IS € ¢
(1)  YreHides a0

@  eTgFe A

3 Afvard fawm =

(1)  irEnfies feife &
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An alkene on ozonolysis gives methanal as one of
the product. Its structure is :

CH,CH,CH,

M ©
CH=CH-CH,

@ Iilj
CH,-CH=CH,

Reaction between acetone and methylmagnesium
chloride followed by hydrolysis will give :

(1)  Isobutyl alcohol

(2)  Isopropyl alcohol
(3)  Sec.butyl alcohol
(4)  Tert. butyl alcohol

Which of the following is a cationic detergent ?

(1)  Sodium dodecylbenzene sulphonate

(2)  Sodium lauryl sulphate
(3)  Sodium stearate
(4  Cetyltrimethyl ammonium bromide

Flippers of Penguins and Dolphins are examples
of :

(1)  Natural selection
(2)  Adaptive radiation
3)  Convergent evolution

Industrial melanism

CY
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Fo fawfsa &1 @ FfveEd FIRE %0 § 9t
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1) GyuEE
©  MyEEn
B G, uEE
()  SyEEn
frefafan = gafad Fifi :
(@) SEfFmwEfRus @ 2=
b) UeES S URE () Fere
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T
@ o =S (v) RIS
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@ (») © @
»n @ @ @O @)
@ @ G @ @
@ @ o @ @
@ @ @ O @@
Tirifea Al %t SE1 e qaH gt 82
(1) AFARE IR Aegers
@ e iR Aoee
() THEENEEE R TEEEST
(@)  FFRE IR ufes

Teeiaer SuTr=as, < fo feieE, figa v iR o
w1 916} & g oA fere w6 Saarfeq fran st €2

(1) S WY
2  dHurH 39EnT
3 Ifg WuwE
(4) &I

7fg § AR §R F7Hi & o9 H1 g 0.34 nm 7 3R
TS AU HITTE H DNA &1 fggeet § &R i
FH FA H&AT 6.6 x 10% bp T1 T DNA & aTwas
TR ST

(1) 2.7 HX
@2 2.0 X
(3 25X
() 22X
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Some dividing cells exit the cell cycle and enter
vegetative inactive stage. Thisis called quiescent
stage (G). This process occurs at the end of :

1  Gyphase

(20 Mphase

3)  Gjphase

(40  Sphase

Match the following :

(a)  Inhibitor of catalytic (1) Ricin
activity

(b)  Possesspeptidebonds (ii)) Malonate

(© Cell wall material in @iii)  Chitin
fungi

(d  Secondary metabolite @iv) Collagen

Choose the correct option from the following :
@ ) @@ @

» @ @ @O @)

@ @ G @ O

@ @ @O @ o

@ @ G O @

Floridean starch has structure similar to :

(1) Laminarinand cellulose
(2)  Starch and cellulose

(3)  Amylopectin and glycogen
(499  Mannitol and algin

Secondary metabolites such as nicotine, strychnine
and caffeine are produced by plants for their :

(1)  Effectonreproduction
(2)  Nutritive value

3)  Growthresponse

(4)  Defence action

If the distance between two consecutive base pairs
is 0.34 nm and the total number of base pairsofa
DNA double helix in a typical mammalian cell is
6.6x 109 bp, then the length of the DNA is
approximately :

(€))] 2.7 meters
(20 2.0meters
3) 2.5 meters
(41  22meters
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The process responsible for facilitating loss of water
in liquid form from the tip of grass blades at night
and in early morning is :

(1) Plasmolysis
(2) Transpiration
(3)  Root pressure
(4)  Imbibition

Identify the wrong statement with reference to
the gene T’ that controls ABO blood groups.

@

Allele 1’ does not produce any sugar.

(2)  The gene (I) has three alleles.

(3) A person will have only two of the three
alleles.

(4)  When IA and IB are present together, they

express same type of sugar.

Dissolution of the synaptonemal complex occurs
during :

(1) Leptotene
(2)  Pachytene
(3)  Zygotene
(4  Diplotene

Which of the following is put into Anaerobic sludge
digester for further sewage treatment ?

(1)  Activated sludge

(2) Primary sludge

(3)  Floating debris

(4)  Effluents of primary treatment

Which of the following statements are true for
the phylum-Chordata ?

(@ In Urochordata notochord extends from
head to tail and it is present throughout
their life.

(b) In Vertebrata notochord is present during
the embryonic period only.

() Central nervous system is dorsal and
hollow.

d Chordata is divided into 3 subphyla :
Hemichordata, Tunicata and
Cephalochordata.

(1 (b)and (o)

@ (dand(0)

3 (0)and(a)

(@  (a)and(b)



Hindi+English

57.

58.

59.

60.

61.

1 Fafa Wil & A& fashes &1 =2 & |
(1)  FE AIDS, fafefem

©@ g, fafwfam, safte afad

(3) G, AT, S afEd

(1)  AIDS, it wgaAfEn

G % o SIS AT SR SYhell Ui S :
(1) gEHEA Afaw §

2 AT F AR H

(3) Ry %t arfew §

()  IEHI] T GHIIEY Haferd AfeRt §

T IRY i AT Fe | Frefafad wrifits aam

[

(a) stk Ge # faat g dae sed Sl yarsig
e E)

(b) T FTd HEADA T I |

(0 TIH AR sraet Gagd ded |

@  HrYETE goaeh & STHE |

3H UIRY & GO 2R 9 | &l Yedy
Q) oSt sy
@ s
@) TS ST
(4)  TgsisTast @

o fafy g et e vd #3441 o 9 9 @@
T T ' feawsa’ TAR Y T 2

(1)  Saw

@  afEusEA

(3 ScAREdd g A
(4) G

1 1987 § HAifzaa Ui e W 0 & fag

eaefia feran T an?

1) e (e-F FHe) &l oA

() UH WY T W H AAIRG: Eqiar siai
% uftaed & fau

(@) SIS I eifd TgEr At weret i Sesid

@ @ T i w1 S

57.

58.

59.

60.

61.

H2

Select the option including all sexually transmitted
diseases.

(1)  Cancer, AIDS, Syphilis
(2)  Gonorrhoea, Syphilis, Genital herpes
3) Gonorrhoea, Malaria, Genital herpes
(4  AIDS, Malaria, Filaria

Cuboidal epithelium with brush border of microvilli
is found in :

(1)  eustachian tube

(2) lining of intestine

(3)  ducts of salivary glands

(4)  proximal convoluted tubule of nephron

The transverse section of a plant shows following
anatomical features :

(a) Large number of scattered vascular bundles
surrounded by bundle sheath.

(b)  Large conspicuous parenchymatous ground
tissue.

(¢)  Vascular bundles conjoint and closed.
(d  Phloem parenchyma absent.

Identify the category of plant and its part :
(1)  Dicotyledonous root

(2) Monocotyledonous stem

(3)  Monocotyledonous root

(4  Dicotyledonous stem

By which method was a new breed ‘Hisardale’ of
sheep formed by using Bikaneri ewes and Marino
rams ?

(1) Inbreeding

(2)  Outcrossing

(3)  Mutational breeding
(4  Crossbreeding

Montreal protocol was signed in 1987 for control
of :

(1)  Disposal of e-wastes

(2)  Transport of Genetically modified organisms
from one country to another

(3)  Emission of ozone depleting substances

(1) Release of Green House gases
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Match the following columns and select the
correct option.

Column -1 Column -1I1
(a) Btcotton (1) Gene therapy
(b)  Adenosine @ii))  Cellular defence
deaminase
deficiency
(¢ RNAi (iii))  Detection of HIV
infection
d PCR (iv)  Bacillus
thuringiensis
@ () (© @
®» O @ @ )
@ G O @ @@
@ @ @ O @)
@ @ @ ) O

According to Robert May, the global species
diversity is about :

(1)  7million

2) 1.5 million
(3) 20 million
(@) 50 million

Choose the correct pair from the following :

(1)  Exonucleases - Make cuts at specific
positions within DNA

(2) Ligases Join the two DNA
molecules

(3)  Polymerases - Break the DNA into
fragments

(4  Nucleases Separate the two strands
of DNA

Identify the wrong statement with regard to
Restriction Enzymes.

(1)  Sticky ends can be joined by using DNA
ligases.

(2) Each restriction enzyme functions by
inspecting the length of a DNA sequence.

(3)  They cut the strand of DNA at palindromic

sites.

@

They are useful in genetic engineering.
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Match the organism with its use in biotechnology.

(a  Bacillus 1) Cloning vector
thuringiensis

(b) Thermus (i)  Construction of
aquaticus first rDNA

molecule

()  Agrobacterium (1) DNA polymerase
tumefaciens

d  Salmonella @iv)  Cry proteins
typhimurium

Select the correct option from the following :
@ () @© @

o @ G O @

@ @ G @ @

@ G @ @O @

@ @ @ ) O

Match the following columns and select the

correct option.

Column -1

Column -11I

(@  Organ of Corti 1) Connects middle
ear and pharynx

()  Cochlea (i)  Coiled part of the
labyrinth

(¢  Eustachiantube (i) Attached to the
oval window

d) Stapes (iv) Located onthe
basilar
membrane

@ () © @

» O @ Ga) @

@ @ @ @O @

@ @ @O @ @

@ G @ @O @@

The QRS complex in a standard ECG represents :

(1)  Repolarisation of ventricles
(2)  Repolarisation of auricles
(3)  Depolarisation of auricles
(4)  Depolarisation of ventricles

Identify the substances having glycosidicbond and
peptide bond, respectively in their structure :

(1) Inulin, insulin
(2)  Chitin, cholesterol
3)  Glycerol, trypsin

@

Cellulose, lecithin
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Which of the following regions of the globe exhibits
highest species diversity ?

(1) Amazon forests

(20 Western Ghats of India

(3)  Madagascar

(49 Himalayas

Match the following columns and select the
correct option.

Column -1 Column -1I1
(a) Placenta (1) Androgens
(b)  Zona pellucida (i)  Human Chorionic
Gonadotropin
(hCG)
(¢)  Bulbo-urethral @iii)) Layer of the ovum
glands
d) Leydig cells (iv) Lubrication of the
Penis
@ () (© @
»H @ @ G O
@ @) @ @O @
@ O G @ @
@ @ @ ) O

Match the following columns and select the
correct option.

Column -1 Column -II
(a)  Pituitarygland (i) Grave’s disease
(b)  Thyroid gland (i)  Diabetes mellitus
()  Adrenal gland (iii)  Diabetesinsipidus
d  Pancreas (iv) Addison’s disease
@ m) © @
» @ @ G @@
@ G @ @O @
@ @ @ O @)
@ @ @O @) @

Which of the following is not an inhibitory
substance governing seed dormancy ?

(1)  Para-ascorbic acid
(2)  Gibberellic acid
(3)  Abscisic acid

(4  Phenolicacid



Hindi+English

74.

75.

76.

1.

78.

79.

afe faerae @1 faw &1 o s =@ &9 fodi o
Siiferd T& Heha & il

1) R H | dF %1 1/3 Y A € SetE 9y
YA % I3 9T H g €

@ fooag & sAftmfaen fess 3 & SR 9
H feor 2 €1

@) Taerag o e o 78 gl

() T ¥ e 7 1 e BT 9T Bl § Setw
Y IR % 3T’ 91§ feorg g g1

Tafee 31t =k o U gH1E | Hagd TR BRI
1 T 1 Bt § 2

1 =

@ A

@) Twh

@

gfg =t wferan ifersran forg SR 2t 82
1 v

2 < rEEen

(3) gvHd yEEd

(@) frofar

Hed 4 o ©Y 9 Yo HE arell T2 & qre &
ferarit femei =61 gl & w9 ® 91 < faadia fasmeni

T Ueh ATV o ST Ueh T of ?

n 8

@ 4

@ 2

@ 1

IS THARIBRIGY H, JUF §U SLUAT, & GUSI HI
Toraent Teradr | 3@ 5T Gl 8 ?

(1) - fafeo | gffeas smes 9
@ I il YT H UHISRIEHA 9
3 UV fafswor § ufafezm smes 9
(@ UV fafeo ¥ vdEemEA 9

71 9 e T 3 i Yt |

1 S

@ e

@ T

(@) wmfE

19

74.

75.

76.

7.

78.

79.

H2

If the head of cockroach is removed, it may live for
few days because :

(1)  the head holds a 1/3™ of a nervous system
while the rest is situated along the dorsal
part of its body.

(2) the supra-oesophageal ganglia of the
cockroach are situated in ventral part of
abdomen.

(3)  thecockroach does not have nervous system.

(4)  theheadholds a small proportion of a nervous

system while the rest is situated along the
ventral part of its body.

The number of substrate level phosphorylations
in one turn of citric acid cycle is :

(1)  Three

2  Zero

B) One

@ Two

The process of growth is maximum during :
(1)  Dormancy

(20 Logphase

(3) Lagphase

(4)  Senescence

How many true breeding pea plant varieties did
Mendel select as pairs, which were similar except
in one character with contrasting traits ?

@ 8

@ 4
@ 2
@ 1

In gel electrophoresis, separated DNA fragments
can be visualized with the help of :

(1)  Ethidium bromide in infrared radiation
(2)  Acetocarmine in bright blue light

(3)  Ethidium bromide in UV radiation

(4 Acetocarmine in UV radiation

Identify the basic amino acid from the following.
(1)  Valine

(2)  Tyrosine

3  Glutamic Acid

(4  Lysine
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Match the following with respect to meiosis :

(a)  Zygotene (1) Terminalization

(b) Pachytene (i) Chiasmata

(¢) Diplotene (iii)) Crossing over

(d  Diakinesis (iv) Synapsis

Select the correct option from the following :
@ m) @© @

®» @ G@) @ O

@ @ G O @@

@ G @ @ @

@ o @ @) W

Match the following diseases with the causative
organism and select the correct option.

Column -1 Column -11I

(@  Typhoid @ Wuchereria

(b) Pneumonia (1)  Plasmodium

(©) Filariasis @iii)  Salmonella

(d  Malaria (iv)  Haemophilus
@ ) @© @

®» W O @ @

@ O @ @ G

@ @ @) O @

@ @ O @ G

Match the following concerning essential elements
and their functions in plants :

(@ Iron (0] Photolysis of water
(b) Zinc (i)  Pollen germination
(¢ Boron (i) Required for chlorophyll
biosynthesis

(d  Manganese (iv) IAAbiosynthesis
Select the correct option :

@ () (© @
» G @O @ @@
@ @ O @) @
@ @ @ @ O
@ @ G @ O
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Which of the following would help in prevention of
diuresis ?

(1)  Decrease in secretion of renin by JG cells

(20 More water reabsorption due to
undersecretion of ADH

(30  Reabsorption of Na*t and water from renal
tubules due to aldosterone

(4)  Atrial natriuretic factor causes
vasoconstriction

Snow-blindness in Antarctic region is due to :

@

Damage to retina caused by infra-red rays

(20 Freezing of fluids in the eye by low
temperature

(3) Inflammation of cornea due to high dose of
UV-Bradiation

(1)  Highreflection of light from snow

Bt cotton variety that was developed by the
introduction of toxin gene of Bacillus thuringiensis
(Bt) is resistant to :

(1) Insectpredators
(2)  Insect pests

(3)  Fungal diseases
(4  Plant nematodes

Select the correct events that occur during
inspiration.

(@  Contraction of diaphragm

(b)  Contraction of external inter-costal muscles
(¢  Pulmonary volume decreases

(d  Intrapulmonary pressure increases

(1 only(@d)

@  (a)and(b)

@ (Jand(d)

@  (a),(b)and(d)

Which of the following is correct about viroids ?

(1) They have free DNA without protein coat.
(2) They have RNA with protein coat.
(3)  They have free RNA without protein coat.

(40  They have DNA with protein coat.
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Match the following columns and select the
correct option.

Column -1 Column -11I

(a)  Floating Ribs @) Located between
second and
seventh ribs

(b)  Acromion (i) Headofthe
Humerus

(©) Scapula (i)  Clavicle

d) Glenoid cavity (iv) Do not connect
with the sternum
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Match the following columns and select the
correct option.

Column -1 Column -II

(@  Gregarious, polyphagous (i) Asterias
pest

(b)  Adult with radial (1))  Scorpion
symmetry and larva
with bilateral symmetry

(¢  Booklungs (ii1)) Ctenoplana

(d)  Bioluminescence (iv) Locusta
@ () (@ @
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Ray florets have :

(1)  Halfinferior ovary

(2) Inferior ovary

(3)  Superior ovary

(4  Hypogynous ovary

In which of the following techniques, the embryos
are transferred to assist those females who cannot
conceive ?

(1) GIFT and ICSI
@  ZIFTand IUT
(3  GIFT and ZIFT
(1)  ICSI and ZIFT
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Match the following columns and select the
correct option.

Column -1 Column -1I1

(a) Clostridium (1) Cyclosporin-A
butylicum

(b) Trichoderma (i)  Butyric Acid
polysporum

(¢)  Monascus (i)  Citric Acid
purpureus

(d)  Aspergillusniger (iv) Blood cholesterol

lowering agent
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The plant parts which consist of two generations -
one within the other :

(a) Pollen grainsinside the anther

(b) Germinated pollen grain with two male
gametes

(¢©)  Seed inside the fruit

(d  Embryosacinside the ovule

(1 (a)and(d)

@  (a)only

3  (a),(b)and (c)

4  (c)and(d)

Which of the following is not an attribute of a

population ?

(1)  Speciesinteraction

(2)  Sexratio

(3)  Natality

(4 Mortality

The sequence that controls the copy number of the
linked DNA in the vector, is termed :

(1)  Recognition site
(2)  Selectable marker
3)  Orisite
(4)  Palindromic sequence
The specific palindromic sequence which is
recognized by EcoRlI is:
1 5-GGATCC-3'
3'- CCTAGG - 5'
(2 5 -GAATTC-3'
3'- CTTAAG - 5'
3 5-GGAACC-3
3'- CCTTGG-5'
4 5 -CTTAAG-3
3'- GAATTC - 5'
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